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"A Company in law is a different person altogether from

its members," Comment. 5

Distinguish between private and pubtic company. 5

What is the legal position of a promoter of a

company ? 5
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What is an illegal association ? State its consequences.5

"Conclusiveness of a cenificate of incorporalion cannot

be disputed on any ground whatsoever." Comment. 5

X on the instructions of the promoters of a proposed (

company prepared the memorandum and articles of

association and got the company registered. X claims.

his costs fr<im the company. The company refuses to

pay. Will X succeed ? 5
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(u) What is a statutory meeting ? State the inrportant

provisions for holding a statutory meeting ? 5

(h) Slale the provisions regarding quorum. 5

(c) What type of resolulion is required to transact the

following business : 5

(0 Appointment of additional director

(i, Appointment of auditor

(lir) Amalgamation with another company

0v) Changing registered ollice of a company from one

stati to another state

(v) Declaration of dividend.
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What is Annual Ceneral Meeting ? What is its

imporlance ? Does the tribunal have the power to call
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Discuss tbe doctrine of.ultra vires. What are the effects

of ultra vires transactions ? 5

Write a note on buyback of shares. 5

Distinguish between transfer and iransmission of

securiries. 5
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an ACM ? 5

(b) State the provisions legarding proxy. 5

(c) Write shon notes on: 5
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What is memorandum of association ? Explain the law

relating to alteration of object clause. 5 
(

Explain the remedies available against the company to

an allottee who has bought shares on the basis of

misleading prospectus. 5

List the purposes for which securities premium account

may be used as per the Companies Act. 5
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Can the Central Covernment appoint a director in a

public company ? Expiain. 
o 

5

Define the term Company Secretary. What are the

functions and duties of CS ? 5

Write a note on different types ol board committees.5
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Explain the concept of key managerial personnel

introduced by Companies Act, 2013. 5

State the provisions relating to the removal of a

director. 5

State the qualifications and disqualilications of director

and the maximum number of directorships an individual

can hold ? 5
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What do you mean by forlbiture of shares ? Explain

the requirements of a valid forfeiture of shares by a

company. 5

Write a note on Annual Retum. 5
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Who can be an auditor ? Discuss the powers of an

audiror under the Companies AcL 2013. 5

What is_rvinding up of a conrpany ? Distinguish between

winding 0p and dissolurion of u company. 5

Write a note on National Company Law Tribunal

(NCLT). 5
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